fReeBie!

ItiPlication anD Division

Common Core Stdnddrd 3.0A.3

swings “‘
each swind
chitdren.

Word

Problems
within 100




DO YOU liKe WHat
you see?

Purchase the full product which includes 108
word problems here.

Follow me for updates on my latest products.

n

Teacher$

I hope that you find this resource useful in your cldass.
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The highlighted problem types dre included in this FREEBIE

Equdl Groups (Unknown Product)

Equal Groups (Group Size Unknown)

Equal Groups (Number of Groups Unknown)
Compdre (Unknown Product)

Compadre (Group Size Unknown)

Compdre (Number of Groups Unknown)
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MUItiPIY or DiViDE?

There dre 4 bunches of
bdndnds. Edch bunch hds
5 bdndnds. How many
bdndnds dre there in all?

MUItiPIY or DiVIDE?

There dre 4 bags with 6
cdrrots in edch bdg.
How many carrots dre
there in all?

MUItiPIY or DiViDE?

There dare 12 boxes of
ice-credms in the
freezer. If 4 ice-creams
were in edch box, how
madny dre there
ditogether?

MUItiPIY or DiVIDE?

There dre 5 swings dt
the park. On edch swing
there are 2 children.
How madny children dre
there dat the park?

MUItiPIY o- DiVIDE?

There dre 9 contdiners
with 4 lolly-pops in edch
contdiner. How many lolly-
pops dre there in all?

MUItiIPIY or DiViDE?

There dre 5 buses with 6
children in edch bus. How
mdny children dre
there in all?




MUItiPIY o= DiViDE?

80 lemons dre pldaced
equdlly into groups of 10.
How many groups of
lemons dre there?

MUItiPIY or DiViDE? MUItiPIY o DiViDE?

You hdve 48 inches of If 72 children are
ribbon, which you will cut info ./ orgdnized ¢ into d group,
pieces that dre 8 inches long. i ! then how many groups will

How many pieces of ribbon there be?
will you hdve?

MUItiPIY o= DiViDE? MUItiPLY or DiViDE?

Mr. Martin had 70 pieces of There dre 60 computers in
pdper, dnd he made bundles d truck. If John delivers 10
by stdpling every 10 pieces computers at edch house,
of paper together. How how madny houses does he
mdny bundles could he need to drive to?
make?
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MUItiPIY or DiVIDE?

George pays $6 d week to
use his mobile phone. Tom
pdys 4 times more thdn
George. How much does
Tom pay to use his phone?
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MUItiPIY or DiViDEe?

Sardh’s restdurant chdrges
$12 for d pizza. Riley’s
restdurdnt chdarges 3 times
more than Sarah. How much
does Riley charge for his
pizza?
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MUItiPIY or DiViDE?

There were 5 pirdtes on the
black ship. There were 3
times more pirates on the
blue ship. How many pirates
were on the blue ship?

MUItiPIY or DiVIDE?

The medium shdrk ate 4 fish

for dinner. The ldrge shark
date 3 times more than the
medium shark. How many

fish did the large shark eat?

MUItiPIY or DiViDEe?

Robert pays $12 d day to
cdtch the bus. Tim pays
twice ds much ds Robert.
How much does Tim pay to
cdtch the bus?

@ (‘”

MUItiPIY or DiViDE?

Jorddn hds 12 DVDs stored
in his cdbinet. Jesse has 5
times more DVDs thadn
Jordan. How many DVDs
does Jesse hdve"’




MUItiPIY or DiViDE? MUItiPIY o= DiViDE?

George is 8 yedrs old. His

grdndpd, Liam, is 72 yedrs

old. How many times older
is Liam than George?

A the zoo there dre 44
monkeys and 7 lions. How
madny times more monkeys
dre dt the zoo thdn lions?

MUItiPIY o= DiViDE?

Tom hds 72 pencils. Lisa

hds 12 pencils. How many

times more pencils does
Tom hadve than Lisa?

blue umbrelld costs $2. How

mdny times more expensive

is the pink umbrella than the
blue umbrella?

MUItiPIY o= DiViDE? MUItiPIY or DiViDE?
Pippd hds 7 horses. Pete
has 21 horses. How many
times more horses does
Pete hdve than Pippa?

Molly hds 6 hats. Jill has 30
hats. How many times more
hats does Jill have than




MUItiPIY o= DiViDE?

There dre 4 bunches of
bdndnds. Edch bunch hds
5 bdndnds. How many
bdndnds dre there in dll?
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MUItiPIY or DiViDE?

There dre 5 swings dt
the park. On edch swing
there are 2 children.
How many children are
there at the park?
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MUItIPIY or DiViDE?

There dre 4 bags with 6
cdrrots in edch bdg.
How many carrots dre
there in all?
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MUItiPIY or DiViDE?

There dre 9 contdiners
with 4 lolly-pops in edch
contdiner. How mdny lolly-
pops dre there in all?
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MUItiPIY or DiViDE?

There dre 12 boxes of
ice-credms in the
freezer. If 4 ice-credams
were in edch box, how
mdny dre there

dlitogether?

MUItiPIY or DiViDE?

There dre 5 buses with 6
children in edach bus. How
mdny children dre
there in all?




MUItiPIY or DiViDE?

If 32 tomadatoes dre packed
8 in d bdg, then how many
bdgs dre needed?
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MUItiPIY or DiViDE?

80 lemons dre pldced
equdlly into groups of 10.
How many groups of
lemons dre there?

MUItiPIY or DiViDE?

You hdve 48 inches of
ribbon, which you will cut into

pieces that are 8 inches long.

How many pieces of ribbon
will you have?
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MUItiPIY or DiViDE?

If 72 children are
orgdnized ¢ into a group,
then how many groups will
there be?

MUItiPIY o= DiViDE?

Mr. Martin had 70 pieces of

pdper, dnd he made bundles

by stdpling every 10 pieces
of pdper together. How
mdny bundles could he

make?
O,

MUItiPIY or DiViDE?

There dre 60 computers in
d truck. If John delivers 10
computers at each house,
how mdny houses does he
need to drive to?
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MUItiPIY o DiViDE?
George pays $6 d week to
use his mobile phone. Tom
pdys 4 times more than
George. How much does
Tom pay to use his phone?
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MUItiPIY or DiViDE?

Sdrdh’s restdurant charges
$12 for d pizza. Riley’s
restdurdnt chdarges 3 times
more than Sarah. How much
does Riley charge for his
pizzd?
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MUItiIPIY or DiViDE?

There were 5 pirdtes on the
black ship. There were 3
times more pirates on the
blue ship. How many pirdtes
were on the blue ship?
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MUItiPIY o= DiViDE?

The medium shark ate 4 fish

for dinner. The ldrge shark
date 3 times more than the
medium shdrk. How many

fish did the large shark eat?
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MUItiPIY or DiViDE?

Robert pays $12 a day to
cdtch the bus. Tim pays
twice ds much ds Robert.
How much does Tim pay to
cdtch the bus?
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MUItiPIY or DiViDE?

Jorddn hds 12 DVDs stored
in his cdbinet. Jesse has 5
times more DVDs than
Jordan. How many DVDs
does Jesse hdve”




MUItIPIY or DiViDE?

George is 8 yedrs old. His

grdndpd, Liam, is 72 years

old. How many times older
is Liam than George?

MUItIPIY o= DiViDE?
A the zoo there dre 44
monkeys dnd 7 lions. How
mdny times more monkeys
dre dt the zoo thdn lions?
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MUItIPIY or DiViDE?

Tom has 72 pencils. Lisa

has 12 pencils. How many

times more pencils does
Tom have than Lisa?
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MUItiPIY o= DiViDE?

A pink umbrella costs $36. A

blue umbrella costs $4. How

mdny times more expensive

is the pink umbrelld than the
blue umbrella?
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MUItIPIY or DiViDE?

Pippd hds 7 horses. Pete

has 21 horses. How many

times more horses does
Pete have than Pippa?
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MUItiPIY o DiViDE?

Molly hds 6 hats. Jill has 30
hats. How many times more
hdats does Jill hdve than
Molly?
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MUItiPlication anb DiViSioN

ANSWER KEY

Answer

20 bdnanas $24

10 children $36

24 cdrrots 15 pirates

36 lolly-pops 12 fish

48 ice-credms $24

30 children 60 DVDs

4 bags

8 groups

6 pieces

8 groups

7 bundles

6 houses




